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QUESTION BOOKLET
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1. A copper wire is stretched so that its length is increased by 0.1 percent. The

percentage change in its resistance is

(A) 0.2 percent (B) 0.4percent (C) 0.6 percent (D) 0.8 percent
T AT IR 39 YR Gia T foh 35eh! @waTg # 0.1 Ifowrd gfg Bt & | 39
gferier # fehae % uftad grar g ?

(A) 0.2% (B) 0.4 % (C) 0.6% (D) 0.8%

The resistance of wire of uniform diameterd and length L is R. The resistance
of another wire of same material but diameter 2d and length 4 L will be

Toreft TorHHT =T 3R L AFITS o a1 Ifd09 R @ | 38 Ui o Teh 370 dR
o1 Iy e =ma 2d 3T oS 4 L&l o 81

(A) 2R (B) R (C) R2 (D) R/4

A wire has a resistance of 10 Q. It is stretched by one-tenth of its original
length. Then its resistance will be

Tsh R 1 T 10 Q B | Afe 38 0 o7 <waTs <5l glal ST b G 9,
$HHT IfeY g
(A) 100 (B) 1210 ©) 90 (D) 11Q

Eureka has temperature co-efficient of resistance
(A) almost zero (B) negative (C) positive (D) none of above

LT o UfRIY T ATIHH 0N &
(A) ™IE (B) HOHSK  (C) G (D) Ig el

A primary cell has an e.m.f. of 1.5 V. When short-circuited, it gives a
current of 3A. The internal resistance of the cell is

Teh WA 81 b1 f9. 31,9, 1.5 V 8 | 99 oy Tt foha Sirar & @ 98 3A 9
AT R | T T AT TS ]

(A) 450 (B) 20 (C) 05Q (D) 1/4.5Q
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6.  An electric fan and a heater are marked 100 W, 220 V & 1000 W, 220 V
respectively. The resistance of heater is

(A) zero (B) greater than that of fan

(C) less than that of fan (D) equal to that of fan

T T v 3R W e #H swEe: 100 W, 220 V 3R 1000 W, 220 V fafea
g | et w1 vfeiy 3

(A) I (B) "@d3AYU® (C) W@ HA (D) U o S

7.  Two resistances are joined in parallel whose resultant resistance is 6/5 Q.
One of the resistance wire is broken and the effective resistance becomes 2
ohms, then the resistance of the wire that got broken is

a1 gfeen sl THTE § T foman o 8 | et aiomdt gfaty 6/5 Q 8 | 390
T Teh UfUg IRR @Wied &1 T 3T Il Ifale 2 37W 1§ T | 99 39 dR

gicRig Sl ¢ T &
(A) 6/5Q (B) 3Q C) 20 (D) 3/5Q
8. A linear circuit is one whose parameters (e.g. resistance etc.)

(A) change with change in current

(B) change with change in voltage

(C) do not change with change in current and voltage
(D) none of above

e & Uiy 98 8, foees Refted (wfaty smfe)
(A) T AT o |1 9eerd § |

(B) dicedl Ui & |1 9¢eTd & |

(C) o/ 9 dieedl TNEdd o |1 &l §¢eld 2 |
(D) 3WIH B H HIg T8I

9.  Find Thevenin equivalent circuit to the left of the terminal X-Y in fig.

o 4 X-Y T8 & o1¢ @@ e[ qea™ qiay Hie shifs

40 Q X
81V —— 90 Q2 §R1
180 Q
NN v
(A) Vth=5V;Rth=4.50Q (B) Vth=6V;Rth=5Q
(C) Vth=4.5V;Rth=10Q (D) Vth=10V;Rth=9Q
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10.

11.

12.

13.

14.

15.

16.

What percentage of the maximum power is delivered to a load if load
resistance 1s 10 times greater than the Thevenin resistance of the source to
which it is connected ?

AR TTe’ ol Tehd=T Ifawrd @i ohl feeiiok B Ife &g o1 Ifaliy, | foes
g TN 7, o AT Tfatre & 10 7T 3776 81 2

(A) 25% (B) 40% (C) 35% (D) 33.06%

How much electrical energy in kWh is consumed in operating ten 50 W
bulbs for 10 hours in a day in a month of 30 days ?

30 fei & @g § U fed § 10 91 o fotw 50 W o6 10 §iedt 90e] &, af kWh ¥
Tepaft feregeta <ott <ht @ Bt 2

(A) 500 (B) 15000 (C) 150 (D) 15

You are given three bulbs of 25 W, 40 W and 60 W. Which of them has the
lowest resistance ?

(A) 25W (B) 40 W
(C) 60W (D) information incomplete

JTIhT 25 W, 40 W 3R 60 W o o sea f]gu T 8 | 378 & foherent wfeig s+1 8 2
(A) 25W (B) 40 W (C) 60 W (D) T 3T 2 |

A fuse is made of
(A) Tin-lead alloy (B) Copper (C) Tungsten (D) Nichrome

Tsh RS 1 11 8
(A) Te-cig fasrarg @ (B) I &I
(C) T (D) T =

The force between two electrons separated by a distance r varies as

r G0 | Y TohT T T el o Hel S GREdH 1 8, TTTEm
(A) r? (B) r € r! (D) r2

When relative permittivity of the medium is increased, the force between
two charges placed at a given distance apart

(A) increases (B) decreases

(C) remains the same (D) none of the above

T TTEH ST 3ATUTRTeR ISR 6T &, Al Tohel &1 718 G TR Jieh T 3ol o o 5ot
(A) Searg|  (B) TR | (C) THFTEATR | (D) 3WIeh H § IS T

The potential at a point due to charge is 9 V. If the distance is increased
three times, the potential at a point will be

ToRell Toimg TR 3T o6 T fawd 9 VB | Afe gl o6l i 1 Siern 9, i foreg
R fava g1 Smom

(A) 27V (B) 3V C©) 12V (D) 18V
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17.

18.

19.

20.

21.

22.

A soap bubble is given a negative charge. Its radius

(A) decreases (B) increases

(C) remains unchanged (D) none of the above

Teh HISH o FeTeel ol SRUTAST T ST 3 | SHeh! s

(A) 4 gl S | (B) =g Sur |

(C) ufafda &t | (D) 3T § & HIs Tal

The capacitance of a parallel-plate capacitor depends upon

(A) thickness of plate. (B) separation between plates.
(C) the type of metal used. (D) potential difference between plates.
Tepet TR wie HuTie <6t gt fsi gt 8

(A) =i hHl ARE W (B) wIE % HEY Jhal T

(C) I Uered o JehR T (D) @il & Teq faemat ©

The capacitor of capacitances C,; & C, are connected in parallel. A charge Q
given to them is shared. The ratio of charges Q,/Q), is

C, T C, a3t aTct T Sl FHIR TANH § ST =T | 3eh! T T
AN Q &edT & | Q,/Q, IATeII Tl FUTA & -
(A) C,/C, B) C,/C, ©) C,C/l (D) 1/CC

A capacitor of 20 puF charged to 500 V is connected in parallel with another
capacitor of 10 uF capacitance and charged to 200 V. The common potential is
Teh YA 20 pF, 500 V Tk SAAMRE 8, 36 GHIR § 3= 10 pF 91iar aret 331
[T 58 200 V % STTEfeTd fopem &, 8 SiioTd fore o | 3w fava 8

(A) 200V (B) 250V (C) 400V (D) 300V

Which of the following does not change when glass slab is introduced
between the plates of charged parallel plate capacitor ?

(A) electric charge (B) electric energy

(C) capacitance (D) electric field intensity

=1 o @ o= wiafda 7€ g 99 e e 3T a9 wie garfe H

AT oh ST T SITaT & 2
(A) Fe@smw (B) fr@est  (C) @i (D) Torgd &= i <iier

The magnetic material used in permanent magnets 1s

(A) Iron (B) Softsteel (C) Nickel (D) Hardness steel
Toreht TATt graeh | T greehid uered 8
(A) & B) WA  (C) T (D) IR
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23.

24.

25.

26.

27.

28.

29.

Magnetic flux density is a

(A) Vector quantity (B) Scalar quantity

(C) Phasor (D) None of the above

FHThH I FoTe U &, T

(A) sfgmafr  (B) Afgwmulyr  (C) ®= (D) 3HRH H T hlg Tal
Magnetic flux passes more readily through

(A) Air (B) Wood (C) Vacuum (D) Iron

TrehIY FoTeRd 3TTereh Fgeral & ol &
(A) 998 (B) #BA (C) Faiad (D) @&

Iron is ferromagnetic

(A) above 770 degree centigrade  (B) below 770 degree centigrade
(C) at all temperatures (D) none of the above

g, TEgraehid B Il &

(A) 770 °C % HW (B) 770 °C o = (C) F¥t AMomHi T (D) IWITh H 8 Hs el

When the relative permeability of a material is slightly more than 1, it is called a

(A) Diamagnetic material (B) Paramagnetic material

(C) Ferromagnetic material (D) none of the above

Tereht Terel <At STTufares Jreaehsiicrar 99 1 § % & 311U 8l dl I8 el &
(A) wid-greehia gered (B) 3T ugrd

(C) wEgraehia e (D) 3WIH § & HIE T

The reluctance of a magnetic circuit varies as

(A) length x area (B) length + area

(C) (length)? x area (D) none of the above

ETh qHTY T TfTErY SeodT & -

(A) TTETS x &A% o TTEY (B) TS + &%t o 3TIEY

(C) (STETE)? x &A% o ITEY (D) 3UUH | B hIg Tal

The SI unit of reluctance is

wfaers it ST 3ehTs &

(A) AT/wb (B) AT/m (C) AT (D) N/wb
M.M.F. in a magnetic circuit corresponds to in an electric circuit.
(A) voltage drop (B) potential difference

(C) electric intensity (D) em.f.

forelt grarshie ufmer & M.MLF., forepa ity < TR |

(A) dieearad (B) fawemd (C) fagrd@ dierar (D) em.f.
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30.

31.

32.

33.

34.

3S.

Hysteresis is the phenomenon of in a magnetic circuit.
(A) lagging of B behind H (B) lagging of H behind B
(C) setting up constant flux (D) none of the above
Tepet Trarhiar uituy o feeifim

(A) H i B =l ugerr il uftgedt 2 | (B) B o W& H i ugerl shl ufere 2 |
(C) for wieg Myt Hi afge 2 | (D) STE J | g 7=l

The magnetic material used for should have a large hysteresis loop.
(A) transformer (B) d.c. generator
(C) a.c. motor (D) permanent magnets

o ot STk Tohalm ST aiTett Jreehi™ 9eTel g Teee e 0 ol 8T =fed |
(A) THEHIR (B) dc. 9 (C) ac.HWX (D) TRl gk

The e.m.f. induced in a 1s statically induced e.m.f.
(A) alternator (B) transformer
(C) d.c. generator (D) none of the above

_ Hyfcgnfaans Wk sva i@ e garg |
(A) JEds  (B) IEHIR (C) de. 9 (D) SHREHU PR TR |

The e.m.f. induced in a coil of N turns is givenby

foreft N i arett pueet | Ui foars. ﬁm%mmm%
(A) do/dt (B) Nd¢/dt  (C) Nd¢/dt (D) Ndvde

A current of 2A through a coil sets up flux linkages of
forelt ueeht @ T 2A it urr e wore fetohst faetfd et 2
(A) 8H (B) 05H (C) 2H (D) 1H

If a co-efficient of coupling between two coils is increased, mutual
inductance between the coils

(A) isincreased (B) is decreased

(C) remains unchanged (D) none of the above

e foreel Q1 sl o sfi= Hufer TuTTeh TgRT TR, O FUSHT o s =T
TR

(A) Sedz | (B) Heai |

(C) 3mfEfdd war? | (D) 3UIE | ¥ IS & |

Code No. : C-359/2017/Series-A 8



36.

37.

38.

39.

40.

41.

Mutual inductance between two coils is 4 H. If current in one coil changes
at the rate of 2A/second, then e.m.f. induced in other coil is

Tl FUSTT < TET 31T Tehed 4 H 7 | Af¢ fohelt Teh pueell § 9T 2A/ kg
61 G Fgerd! &, i gall Ul H Ui fa.ana. 8

(A) 8V B) 2V
(C) 0.5V (D) None of the above / ST H | 15 &l

The specific gravity of the electrolyte of a lead-acid cell is about 1.25. The
cell is about charged.

Tepelt TTe—ufte Wet o ToRga - 3T9eed i i o @ 1.25 8 | 98 §d 3T &
(A) 25% (B) 50% C) 75% (D) 100%

l?)“hf: commercial lead-acid cell has 15 plates. The number of negative plates will
e _—
Teh SHTTETRIh TIS-TUfHE Tcd H wiel shl TAT 15 3 | SHH SRUMcHh WIel ohl ST Bt

(A) 7 (B) 9 (C) 10 (D) 8

In an L-C-R series circuit the capacitance is changed from C to 4 C. For the
same resonant frequency, the inductance should be changed from L to

(A) 2L (B) L2 (C) 4L (D) L/4

fopet L-C-R 2roft aftuer & ernfidt C & 4 C ¥ ufafda gt & | 3o s smafa s
AU Sehea o1 O L @ aiEfid g amtee

(A) 2L (B) L2d (C) 4L (D) L/4H

In a parallel a.c. circuit, power loss is due to .
(A) conductance alone (B) susceptance alone
(C) both conductance & susceptance (D) none of the above

foreft auTaR a.c. ufmer & w1fks g1 =1 HwoT 8
(A) Ha ATeAHd] (B) hael T
(C) <TeTehdT 3R STTTEaT gl (D) 0 9 HIs &l

The torque on the rotor of a 3-phase motor is more constant than that of a
single-phase motor because

(A) single phase motors are not self-starting.
(B) single phase motors are small in size
(C) 3-phase power is of constant value

(D) none of the above

ToReft Forehett H1eX 3 et W feh Uh—hel HIG oh U hl Gt § 3fereh fr 2ar g iifeh
(A) T Hll A1 T Jadeh Fei aidl | (B) Teh el HICK TR H BT B & |
(C) Trpciuer fRRUAH B E | (D) 0 & IS A&

9
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42.

43.

44.

45.

46.

For the same rating, the size of a 3-phase motor will be single
phase motor

(A) less than that of (B) more than that of
(C) same as that of (D) none of the above
T T o foTu Brerett HIet &1 TR, T el HIeT hi gaT §

(A) ®FHEAIR | (B) I | (C) AR B | (D) SRIE H 8 S Tl

Three identical resistances connected in star consume 400 W. If the
resistances are connected in delta across the same supply, the power
consumed will be

< Ty SR T G 2 T 400 W ) e e § | Ry sfed < weh
It o T Seet T fohan S, <t 9tk <6l @ gt

(A) 400 W (B) 600 W (C) 800 W (D) 12000 W

In general, fluid friction damping is not employed in indicating instruments
although one can find its use in

(A) dynamometer wattmeter (B) hot-wire ammeter
(C) induction type energy meter (D) Kelvin electrostatic voltmeter

AR T F[E TV 3TTHeH 1 I T § ITAN T8 BIaT ATy g6
AN TohaT ST FehalT B

(A) SREAUHIE aTeHteT I (B) TH-dR THET |
(C) ROT YhR SrolaTdl T (D) hfced frdea dieeHtet A

If current through the operating coil of moving iron instruments is doubled,
the operating force becomes

(A) twotimes (B) fourtimes (C) one halftime (D) three times
e fopet =eT Tt STl o TNETEH HUSe! & G bl QUIHT Tohall ST Al TiTeH
ENEIES I

(A) QT (B) FRTA  (C) Fem (D) FH T

An electric pyrometer is an instrument used to measure

(A) phase (B) frequency

(C) high temperature (D) none of the above

Teh foreld ITRIte Ut 3UehtUT B fTEeh SURINT < g W11 AT 8

(A) el (B) 3mmafd (C) SHAHAH (D) 3HIH H T hig Tal

Code No. : C-359/2017/Series-A 10



47.

48.

49.

50.

51.

52.

In a split phase capacitor start induction motor, a time phase difference
between the currents in the main and auxiliary winding is achieved by

(A) placing the two windings at an angle of 90 degree electrical in the stator slot.
(B) applying two phase supply across the two winding.

(C) introducing capacitive reactance in the auxiliary winding circuit.

(D) connecting two windings in series across a single phase supply.

Topeht faratfea shom TaTie Sarces ST At § H&T 3TR TERIeh HUsa! ol giiati

I TUeh Tt AT 3T BIdT &

(A) T HUSeri sl 90° TR v W R Tle § W |

(B) Q1 FUSferil o TR Sl Hefl ST Sk H |

(C) UETIS Pusce! UNTY H FYTHE Tidsr Tt |

(D) Ush Uehdl shedl JATYfd < IR 2t § €f Puslerat shi Tifara = |

A 4-pole, 50 Hz synchronous machine runs at

(A) 750 rpm (B) 1500 rpm  (C) 3000 rpm (D) 1440 rpm
Teh IR g 50 Hz qeehlicteh O30 deid! 3

(A) 750 rpm9T (B) 1500 rpm @ (C) 3000 rpm 9T (D) 1440 rpm 9T
In alternator damper windings are used to

(A) reduce eddy current loss

(B) prevent hunting

(C) make the rotor dynamically balanced
(D) reduce armature reaction

SATaeh H 3TaHEeh HUSTCTAl ol ITANT BIAT &
(A) o g g1+ 9 % 7 | (B) gfem weam &g |
(C) U I TTeTcHeh &Y & Hgfetd S 2g |(D)  HATH=R Uik gem 7 |

The speed regulation of a synchronous motor is

(A) unity (B) zero (C) infinity (D) always less than one

Teh qedehloleh HISt shi @Tel 90 @

(A) T[S (B) A= (C) 3 (D) THI TH § A
When a 400 V, 50 Hz, 6 pole induction motor is rotating at 960 rpm on no
load, its slip is

I I W T T 400 V, 50 Hz, 6 4 ST A1 960 rpm & =ffd Bredt 2, seeht Tdor 3
(A) 1% B) 2% ©) 3% (D) 4%

For a three phase induction motor having rotor circuit resistance of 6 Q,

maximum torque occurs at a slip of 0.6. The value of standstill rotor circuit
reactance 1S

ToreY Toremett ST Aot & foru frment Tex uftgy gfatie 6 Q =, 31ferehan 2 0.6
YT T 3G BIAT & | MTa = UL Iiue Tfeier =1 94 §

(A) 4.44Q (B) 0.36Q € 10 (D) 100
11 Code No. : C-359/2017/Series-A




53.

54.

5S.

56.

57.

Maximum efficiency of a transformer occurs when
(A) hysteresis loss and eddy current loss are minimum.

(B) the sum of hysteresis loss and eddy current loss is equal to copper loss
in windings.

(C) power factor of load is leading.
(D) hysteresis loss is equal to an eddy current loss

Terelt TR <t 3tftrehaw getar firerdt 8 St&

(A) Afe g1 3 R gy BT FH A HAF |

(B) frex g1f TR Ser 9T BT ST AT Ul T Ty 811 o SR 8 |
(C) YR <1 31f<h 70Tk 31T % |

(D) Sifercw BTfY ok T 811 & SUsR # |

A 100 kVA, 1100/400, 50 Hz single phase transformer has 100 turns on the
secondary winding. The number of turns on its primary will be

T 100 kVA, 1100/400, 50 Hz Tl AT ZEHE 3 Tgedaes Fuscl d 100 B
& | 3ueht wrfres H i Y T gt

(A) 550 (B) 275 (C) 2750 (D) 5500

The commutator segments of a d.c. machine are made up of

(A) stainless steel (B) hard drawn copper

(C) brass (D) bronze

fereft d.c. i =1 fespufiades @ue &1 grar 2

(A) A A H (B) TS i I h

(C) et s (D) g I

The induced e.m.f. in the armature of a lap-wound four pole d.c. machine
having 100 armature conductors rotating at 600 rpm with 1 flux per pole is

foRET 100 STTHZR =TeTehl aTell, 19 HUSferd, 4 99 d.c. 7= S 600 rpm H HRTA
& a1 frgent wfd ga @@ 1 Wb, o = | 3ia fa.ars. g

(A) 1000V (B) 100V (C) 600V (D) 10000 V

In a d.c. machine, inter-poles are used to

(A) neutralize the effect of armature reaction in the interpolar region
(B) generate more induced e.m.f. in the armature

(C) avoid interference of armature flux with the main field flux

(D) reduce demagnetising effect of armature reaction

Teh d.c. B3 | Zrexdiet o1 9T fohanm Sran @

(A) 3T & T HATH=R Tfdfsha s TTe 3eiH i & foiw |

(B) SATH=R H 3feres I f9.97.9. 30— & & foTu |

(C) 3ITH=R Felad o T1 T &1 FeTard ohT SAfiehtul TRER i o Tt |
(D) 3R fafsrn o1 fargrarss Tame %1 % & faw |
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58.

59.

60.

61.

A d.c. series motor should always be started with load because
(A) atno load it will rotate at a dangerously high speed

(B) atno load it will not develop high starting torque

(C) it can not start without load

(D) it draws a small amount of current at no load

Tk d.c. Uil GieT <kl ZH IS o 91 Tafdd feram ST =nfze =ife
(A) IR ST 9 T8 GatTeh 3= i & Ffofa gt |

(B) YR IIT W IE I JaaH <ieh erehiad g sl |

(C) I% 9N o fort1 yafda &l & ded |

(D) R ST 9 g €N <hl B HTH ofelt § |

CE amplifier is characterized by

(A) low voltage gain (B) moderate power gain

(C) single phase reversal (D) very high input impedance
CE TR e o gra sifrefara g @ -

(A) T St afey (B) HEIM UTeR dAfe

(C) Thet % add (D) fa 3= gAqe wfcramen

The main use of a class-c amplifier is
(A) asan RF amplifier

(B) as stereo amplifier

(C) in communication sound equipment
(D) as distortion generator

FATH - TR 1 Y& 3T §
(A) T RF TATHRR i 0@ (B) U WA TAiwRR 6l aiE
(C) TER oty Iuehtur 4 (D) Toreuur SR 6 W&

Silicon is invariably used in the manufacturer of junction photo diodes because
(A) more electron-hole pairs are generated in it.

(B) its thermally generated minority current is extremely small

(C) it is more rugged than Ge

(D) it needs less reverse bias

Yy Biel SrTe o i # ffetep o TeT SU=T fohan ST 7, il
(A) 3T goiaei foog I 39t 3= BId & |

(B) 3Eeh! AT Ica— 37eq &R 31fd g 2 |

(C) 98 Ge ! g1 | 37f¥e 31aisha (Rugged) 2 |

(D) 38 1 Yidad! aTag sh sedd Bl & |
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62. If two stages of a cascaded amplifier have decibel gains of 60 & 30, then
overall gain is dB.

Ife foret AT TreTBRR & & =N | 60 3R 30 6 shee afsu 2, a9 dB |
Fel Afed §

(A) 90 (B) 1800 <) 2 (D) 0.5
63. FET have similar properties to
(A) PNP transistor (B) NPN transistor
(C) Thermoionic valves (D) Unijunction transistor
FET # f1=1 % 0 1o gid 8
(A) PNP it (B) NPN zifSet
(C) Yzt aTed (D) IFSiaRM e
64. A diac is equivalent to a
(A) pair of SCRs (B) pair of four layer SCRs
(C) diode and two resistors (D) triac with two gates
T diac =1 & 99 7
(A) SCRIH (B) SCR o IR 9Xdi o I
(C) SIS 3R g iRret (D) <7 I triac
65. After firing an SCR, the gating pulse is removed. The current in the SCR will
(A) remains the same (B) immediately fall to zero
(C) riseup (D) rise a little and then fall to zero
SCR ST % 9T¢ R ¥9¢ el foran Sram & | SCR H &1
(A) T T | (B) deehret FReRt 311 &t
(C) IR | (D) oTeT W Fgeh ot 3= aeh firaft |
66. A Colpitts oscillator uses
(A) tapped coil (B) inductive feedback
(C) tapped capacitance (D) no tuned LC circuit
Teh hIATICH giierd H W BT &
(A) 298 Fueeh (B) UThid Hresieh
(C) e AT (D) 3MEuEEE LC iy
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67.

68.

69.

70.

71.

72.

In RC-phase shift oscillator circuits

(A) there is no need for feedback

(B) feedback factor is less than unity

(C) pure sine wave output is possible

(D) transistor parameters determine oscillation frequency

RC-%< f3ree gifersr uftey o

(A) IS &l HIg Sed T8l Bl |
(B) higsish TUIsh $h1S § H BT & |
(C) I[g T T HTHCYE T 7 |

(D) iRt Tfier g ST FHeiid #id 2 |

In an FM broadcast in VHF band, channel width is
fertlt VHF o€ § FM SIS H =Hd 1SS &
(A) 75 (B) 25 (C) 88 (D) 200

In amplitude modulation

(A) carrier frequency is changed  (B) carrier amplitude is changed

(C) three sidebands are produced (D) fidelity is improved
Y Higed |

(A) ITEh YR FEard 2 | (B) dTE%h 3TITH SEodT ¢ |
(C) T HESIE 3B 2 | (D) Thefadt sa i |
A thermocouple is a type transducer.

(A) variable resistance (B) voltage generating
(C) wvariable inductance (D) voltage divider

Th IHThIel Teh b T TESTE & |

(A) TiEd-TT gfaa (B) dieedl 3cTEeHh

(C) UfEdT Yehed (D) dieedl favTeis

The Catchline of Jan-Dhan Yojana is
(A) Mera Khata, Mera Vidhata (B) Mera Khata, Naya Nata
(C) Mera Khata, Bhagya Vidhata (D) Naya Khata, Naya Nata

- A1 T Catchline FI1 8 7
(A) BT @rar, 7 fagmar (B) T @, =T ATl
(C) T @rar, v faerar (D) T @, AT ATl

In Rio Olympics, 2016 India won how many medals in all ?

T TeAIfereh, 2016 H YRA A A Tohad 48eh Sifd o ?
(A) 1 B) 2 ©) 3 (D) 4
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73.

74.

75.

76.

77.

78.

In 63" National Film awards festival, who is honoured with ‘Dada Saheb
Phalke Award’ ?

(A) Manoj Kumar (B) Shashi Kapoor (C) Gulzar (D) Pran

639 TP Tthed TWhR THNIE H “CIETETES Wieoh Wbl & Tohdl Frmria foharm /7
(A) FNFAR (B) TAHFR  (C) TENIK (D) 9

Which Indian Cricket player is awarded with “Arjun Award-2016" ?

(A) Ajinkya Rahane (B) Rohit Sharma

(C) Shikhar Dhawan (D) Suresh Raina

IS QR 2016 Torm T fohohe Rt =i firem 7

(A) AN @D (B) Ukasmi  (C) Brewgsw (D) @@

‘Baba Badbhag Singh’ fair is held in which district of Himachal Pradesh ?
(A) Sirmaur (B) Mandi (C) Chamba (D) Una
e SSHTIHE BT feaaet Jew o ford et & smaifSia gian g 2

(A) R (B) W (C) == (D) ST
The book ‘Kinner Desh’ is written by

(A) Rahul Sankrityayan (B) T.S. Negi

(C) M.S. Randhawa (D) Devraj Sharma

e “foher g fopdes g foret IE 8 7

(A) TEA HIHARH (B) d.wm. Tt

(C) TH.TH. T (D) o vt

Which of the following is known for monolithic rock cut architecture ?
(A) Kangra Fort (B) Taragarh Palace

(C) Masroor rock temple (D) Brajeshwari Devi Temple
o1 7 @ fopdr srafvsd 9 fafifa wemer—shent & fow s ST @ 7

(A) TS fohett (B) ORI 1 4

(C) TEE I Hiex (D) st gt afex
‘HIMURJA’ works in the field of

(A) Afforestation (B) Smart cities

(C) Renewable energy (D) None of these

“ferastt” (HIMURJA) for & § wRisfi@i 2 7

(A) SR (B) @é fgdt

(C) Feltertofiar Stt (D) TH § IS &l
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79.

80.

81.

82.

83.

84.

85.

Parwanoo Industrial Area is famous for

(A) Electronics (B) Automobiles
(C) Textiles (D) Light Engineering
TET 3TENeh & fopwes foe ufeg 2

(A) SORIE (B) 3MemERed (C) dFeRed (D) IEe SS=afaT

Tansen, the famous Mughal musician, was the disciple of
(A) Swami Haridas (B) Kaifi Khan
(C) Baiju Bawra (D) Mohammad Shams

UG el hief= Fiftas aeH feheeh frsr & 7
(A) @Higlie™® (B) @A (C) se&=U (D) HigWE I
Who spoke the words “Swaraj is my birthright and I shall have it” ?

(A) Aurobindo Ghosh (B) Bipin Chandra Pal
(C) Dadabhai Naoroji (D) Bal Gangadhar Tilak

“TITS T SIS, SRR g 3R § 36 TRt T Tohe I8 el T 7
(A) FRfagray (B) faftm == uret (C) grerg s (D) &ret 7Tmer foaetes
The concept of the Eight-fold path forms the theme of

(A) Dipavampsa (B) Divyavadana

(C) Mahaparinibban Sutta (D) Dharma Chakra Pravartana Sutta
3TEifiTeh AT 6t Sraeron fereeht offw I AT 8 7

(A) Cuag (B) T=aed

(C) TeMiHeT ga (D) & =3k Y g
Chlorofluorocarbons deplete the

(A) Ozone layer (B) Troposphere

(C) Bumpy air pockets (D) All the above

FAFARTE 3 LT 3

(A) 3TSIH WA bl (B) SMHIEHR

(C) 379 9T TTal @l (D) 3 &t

Saffron for commercial use is obtained from

(A) Bark (B) Stems (C) Leaves (D) Flowers
STATER ITANT o foTu ShEr aTe fora STar 8

(A) BAY (B) @1 d (C) ufw=i @ (D) T ¥
Which of the following rivers does not form a rift-valley ?

(A) Godavari  (B) Narmada (C) Tapti (D) None of these

= 9 & 41 e faysr-ardh < famior 9 et 8 0
(A) el (B) THa (C) drHt (D) T8 @ IE &
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86.

87.

88.

89.

90.

91.

The highest peak of the Nilgiri Hills is known as
(A) DodaBetta (B) Mahendra Giri (C) Saramati (D) None of these
AR qaaTeT 1 Hai= R e &

(A) SR  (B) Wegf®  (C) @R (D) 3T & IS TEl

The largest producer of ginger in India is

(A) Bihar (B) Odisha (C) Kerala (D) Gujarat
YA § 3TETeh ol HATTYh IcITCh &

(A) form (B) snfem (C) (D) TS
The audible range for human ear is

HIE T hi 5d T0H &

(A) 20 Hz to/& 200 Hz (B) 20 Hz to/d 2,000 Hz

(C) 20 Hz to/& 20,000 Hz (D) None of these / 378 ¥ s &l
Which among the following is the best conductor of electricity ?

(A) Aluminium (B) Gold (C) Copper (D) Silver
=1 4 @ == foega 61 waaH =Tt & 2

(A) tegffm  (B) @l (C) W (D) Toeer
Disputes between states come to the Supreme Court under

(A) Appellate jurisdiction (B) Original jurisdiction

(C) Advisory jurisdiction (D) Writ jurisdiction
Tt & 0y fodTe Tt =Imer™ % % efiT AT 2 |
INEEESIRE EIREA (B) T &HATRIHR

(C) HATEHI SATRIHR (D) FTFIhT &ATIHRR

Who among the following was the Finance Minister of India in the interim
Government during 1946-1947 ?

(A) R.K. Shanmukham Chetty (B) John Mathai

(C) Liaquat Ali Khan (D) Chintamanrao Deshmukh
1946-1947 % SR 7= H | M YR shi 31aiH TR b o 750 9 2
(A) 3TR.%. HgET I (B) S AATS

(C) foromera 3reft @™ (D) Ta=am= 1a e
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92. Fundamental rights guaranteed in the Indian Constitution can be suspended only by
(A) A Proclamation of National Emergency
(B) An Act passed by the Parliament
(C) An Amendment of the Constitution
(D) The Judicial decisions of the Supreme Court

YT o GG § TR fohT 7T Jeiva ATl ol FHfera foham ST Eehal & hael
(A) TFH SAUTAHIE hi ITEEU g |

(B) THe % g uTid fopu Tu aaferfem & |

(C) wfaam o gy & gr |

(D) I=AH =ATITT o Treh 307 o6 gy |

93. According to English alghabet as ‘BC’ is related to ‘YX’ in the same way
‘EF’ is related to whom *

IS VAT (FAEHTSE) o FFER BC” T8 ThR “YX & Haed &, 361 3FT&q
‘EF’ fore@l wsiferd g 2
(A) VU (B) UV (C) WV (D) VW

94.  Pointing towards Jayesh, Radha said, “His sister is the only daughter of my
mother.” How is Radha related to Jayesh ?

(A) Mother (B) Daughter  (C) Brother (D) Sister

WA hl TS ST Hd gL THT el 8, “IHh! & wll /i hl ghedldt Tt & |7
[T, A S A1 hE TR Gee Tl B 2

(A) (B) Tt (C) W (D) =&
95. He invited me tea.

(A) on (B) for (C) to (D) at
96. Synonym of the word ‘Abrupt’ is

(A) uneven (B) sudden (C) unlawful (D) irritating
97. Antonym of the word ‘Recoup’ is

(A) toworsen (B) to strengthen (C) to trap (D) to recover
98. JLIL?

(A) e (B) ep (C) bl (D) HhT
99, TSR THT T TAE R 7

(A) 5% (B) wgshife (C) ey (D) sr=rRfivE
100. “Tsie’ &7 waigaT=h 78 2
(A) ITsH (B) 3Wfa< (C) Afem (D) UeH
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101. An ac voltage can be converted into a unidirectional voltage by using

(A) apower amplifier circuit (B) a multivibrator circuit
(C) an oscillator circuit (D) a rectifier circuit
THhT ITANT hish Teh ac dled ohl Ush Ueh(c3¥ dleds | INefdd fshaT ST Eehdl &
(A) T iferd Jaeies afehe (B) U HedldTssiet dfche
(C) T qifer Hiche (D) T fewehrl wiche
102. An ideal current source is one whose internal resistance is
(A) veryhigh (B) =zero (C) very low (D) infinite

Teh 3ATC €T Hid o8 8, Torereht 371aiies Sfae
(A) sgas=g | (B) IIE | (C) sgafm=ig| (D) 3Faa |

103. Avalanche breakdown in a semiconductor diode occurs when
(A) forward current exceeds a certain value
(B) reverse bias exceeds a certain value
(C) forward bias exceeds a certain value
(D) the potential barrier is reduced to zero
Teh LTI SRS H 3TIUTd ¥ BT §, 3§
(A) 3 9T T fvad gea @ 31fess 81 e |
(B) dia 3Afya T Hfvea gea & 31f4eh 81 91 |
(C) 310 IINA T HfTad gou @ 31fersh 81 9T |
(D) Tova 3@ty geeht I 8 I |

104. The input and output signals of a Common Emitter Amplifier are

(A) always equal (B) out of phase
(C) always negative (D) in phase
Toreht |TET=T IcHSieh YaEeh o $HYS- 3T Ye et 8 & |
(A) BUIM HHE (B) el & AT
(C) THIM A (D) el &
105. In an amplifier, the coupling capacitors are used
(A) to control the output (B) to match the impedances
(C) to limit the bandwidth (D) to prevent dc mixing with i/p or o/p

T Yertfeh #, shufedt Hufed S 2id 8

(A) 3Teqe sl R & o forg |

(B) Sicemen & el @ & fofu |

(C) e aars i Hiftrd s & fora |

(D) YL AT HTHYL o 1Y dc T T B | S o 1T |
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106. One of the effects of negative feedback in amplifier is to

(A) increase the noise (B) increase the harmonic distortion
(C) decrease the bandwidth (D) decrease the harmonic distortion
Yeieh | FHMcHe YOS o J9TE § 8 T 2

(A) @ FGMT | (B) G ferguur @ |

(C) o =T Te T | (D) TS} ferequr TreA |

107. The negative feedback in an amplifier
(A) reduces the voltage gain
(B) increases the voltage gain
(C) does not affect the voltage gain
(D) can convert it into an oscillator if the amount of feedback is sufficient
T YaHh § K0T A9
(A) deeS Al T § |
(B) diedsl AAfeY §@Tam 8 |
(C) dicest AfeYy W hig IHIE &1 STerdT |
(D) 38 U gifers # uRafdd st Tehdl 7, Afe GAHAwH shi 71T gt &t |

108. To generate 1MHz signal, the most suitable circuit is

(A) Wein Bridge Oscillator (B) Phase Shift Oscillator
(C) Colpitts Oscillator (D) None of the above
IMHz f&a Ste % o fora, srferesrsr 3 Afhe 2

(A) a frat gifer (B) st frwe Sifers

(C) whIcATIe gifers (D) ¥ ¥ IS &l

109. The attenuator in a signal generator is used to
(A) provide an external shunt across the output
(B) vary the output impedance of the oscillator
(C) increase the frequency of the output voltage
(D) vary the output voltage amplitude in steps
Toreft el St § e SRITh BT &
(A) 3THYe o IR STEH 3¢ TgH S o foTu |
(B) giferd sl 3MTeheye faanen s uiafda i o fog |
(C) 3IHeYe dlees i g FgH o faT |
(D) 3MMHeYe dledst TR ol TN H giafdd s & foru |
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110.

111.

112.

113.

114.

115.

116.

117.

A gate is enabled when its enable input is at logicl. The gate is

(A) OR (B) NAND (C) NOR (D) None of the above
T e gud BT B ST 3GhT Wtk Y AifoTeh 1 W § | T8 e ]
(A) OR (B) NAND (C) NOR (D) 394 9 HIg Tl

The maximum number of 3-input gates in a 16-pin IC will be

forell 16-T0F IC & 3-37qc T1e <hl Haad T& grft

(A) 2 B) 3 © 4 D) 5
HTL is a modified form of

HTL fergen gitafda wea g 7

(A) CMOS (B) NMOS (C) TTL (D) DTL

The radix of hexadecimal number system is

SICIHE T YU <l JAT &

(A) 2 (B) 4 ©) 8 (D) 16
The octal equivalent of the binary number 11010111 is
fgameam @@ 11010111 1 78S ed &

(A) 656 (B) 327 (C) 653 (D) D7

A universal register

(A) accepts serial input (B) accepts parallel input

(C) gives serial and parallel outputs (D) is capable of all of the above
Teh G2k T

(A) oft $1Ye TSR 2 | (B) TR ST TR ¢ |

(C) 2Iofi AT aHTR AR¥ege car g | (D) U a¥ft o T @em 2 |

A ring-counter consists of five FLIP-FLOPs will have

(A) S5 states (B) 10 states (C) 32 states (D) infinite states
qfa FLIP-FLOP & s+ fi-set & 2t 2

(A) 53@@M  (B) 1039 (C) 323y (D) IHd AU

A memory has 16-bit address bus. The number of locations in this memory
are

Teh AT | 16-fore Tgd s 2 | 39 BRI T AlhIHI bl T&TT 8§
(A) 16 (B) 32 (C) 1024 (D) 65536
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118. A memory in which the contents get erased when power failure occurs is

qier he (ferafiar) B9 o 38 AuH <t e (he) fire ST 2
(A) RAM (B) EAROM (C) PROM (D) ROM

119. The instructions set of a up
(A) is specified by the manufacturers
(B) 1is specified by the users
(C) can be changed by the user
(D) 1is stored inside the pp

prWﬁ%ﬂq@Z
(A) Tmia gro fafafese 2 | (B) 3usireht (o) gr fafifése & |
(C) IR gRI SIgell ST Fehall & | (D) pp % it TEa 2 |

120. The number of interrupts in 8085 up is
8085 pp | T i TE&AT &
A) 0 B) 1 © 3 D) 5

121. An oven takes 16A at 220V. It is desired to reduce the current to 12A. The
value of resistance which must be connected in series will be
220V W T AT 16A ! @Ud HdT & | 39 GRT bl TR 12A b A Sl 3301
2 | ooft § ferat 7 (Yo o fatie Sream g 2
(A) 4.58Q (B) 62Q ) 7.1Q (D) 10Q

122. When a source delivers maximum power to the load, the efficiency will be
(A) maximum (B) below 50% (C) above 50% (D) 50%
TS Ueh HId el WIOT W HEH ek YSH hidl &, a8 35eh! THAT B A&
(A) HEH (B) 50%AFH (C) 50% IR (D) 50%

123. The electrolyte used in Nickel-Iron battery is
ffehet— 3T Sl | W Soiaeiaise @
(A) H,SO, (B) K(OH),
(C) NaCl (D) None of the above / 3T ¥ IS &l

124. M.M.F. is analogous to
(A) electric current in electric circuit (B) current density in conductor

(C) electromotive force (D) voltage

M.M.F. 379&9 &

(A) Soifdees Tihe o forega wmr & (B) =Teteh | €W ©Fcal O
(C) Tord aTEsh 9 & (D) deed |
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125.

126.

127.

128.

129.

130.

A 1 Henry inductance carrying a current of 3A will store energy of
(A) 3 watts (B) 9 watt-sec (C) 3 joules (D) 9 watts
3A 9T 1 9 A aTet 1 H ST fohat Shatt a1 |urg it 2

(A) 3die (B) 9drk-d. (C) 39« (D) 9dfe

If frequency of power supply is 60 Hz, the time period of one cycle will be

fe et Wik ST <l 31T 60 Hz &1, A1 T =56 ohl GHaTais g
(A) 0.02s (B) 20 ms (C) 16.67ms (D) 0.1667s

The power dissipated in the pure capacitance of an R-C series circuit will be
(A) zero

(B) small

(C) higher than dissipated in resistance

(D) equal to dissipated in resistance

feret R-C #oft @ifene <hl 31 4TiaT | 1Tk 1 39 BRT

(A) & (B) 3TcH
(C) dfaQe H 37Usg ¥ 3= (D) SRy H SIS o SR

A three-phase load is said to be a balanced load, if all the three phases have
the same

(A) impedances (B) power factor

(C) both (A) & (B) (D) none of the above

Ueh Frehet WROT Fford WROT et e, Afg @t i shetrd g Bl |
(A) fasrer (B) Iferd TUTeh

(€) (A)Tn (B) G (D) T8 & iE 7

The maximum permissible operating temperature of class-E insulating
material is

T3 SFERIL AN 1 HEa STTHA qRETerd araHHE &
(A) 130C°  (B) 180C° (C) 120C° (D) 105 C°

The emf induced in the secondary winding of a 50 Hz single-phase
transformer having 1000 turns on its secondary is 222 V. The maximum
flux density in the core is 0.1 Wb/m2. The cross-sectional area of the core is
Teh 50 Hz Tehal Shell 2B o, Torees fedies w1000 e 7, fgdfioes Heem 8
I emf 222 V 2 | shig H HEd9 Folad B-cd 0.1 Wb/m2 8 | 5hIS o1 ST -
HIC FAHA BT

(A) 0.1me (B) 0.01m? (C) 1me (D) 0.001 m?
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131. A transformer when supplying a load maintained 11 kV across load
terminals. When the load was switched off, the terminal voltage became
11550 V. What is the voltage regulation at this load ?

foreht gt o 9 6t 3gfd S W wReT 2fHae § 11 kV %W @l 8 | S«
U7 §¢ o fean ST 2, @ 2fia Siees 11550 V 81 a1 2 | 39 WO | Slees
= fera 8 2

(A) 11.55%  (B) 5.5% (C) 5% (D) 55%

132. The slip of 400V, 3-phase, 4 pole induction motor when rotating at
1440 rpm is

1440 rpm T gH T 400 V, Frehelt, IR et SRor Aiet | gdv gem
(A) 2% B) 3% ©) 4% (D) 5%
133. The phenomenon of squirrel cage motors sometimes showing a tendency to
run at a very low speed is known as
(A) cogging (B) crawling (C) damping (D) skewing
e ot Aied wefi-eft sAfa fe oifa o =R h aman i 2, T8«

%‘ . .
(A) AT (B) shI3fem (C) sfm (D) R

134. The speed of revolving field for a 50 Hz, 8 pole machine will be

T 50 Hz, 8-4d AefH < fotu gfvra &= <t i geft
(A) 1500rpm (B) 1440rpm  (C) 1000rpm (D) 750 rpm

135. The speed regulation of a synchronous motor is

(A) unity (B) zero

(C) infinity (D) always less than one

fereht fesniae wret 1 i frem= g 8

(A) THH (B) A (C) 3 (D) FHTH H FH

136. Armature reaction in an electrical machine is the effect of
(A) armature flux on the main field flux
(B) heat produced on the armature winding
(C) armature currents on the output
(D) armature flux on the output
Tereht fergga wefa o Tm=r wftfshan gwmE 2
(A) T & Foied T 3TTHR Folad b1 (B) TR $Eai W 3cd~ oA
(C) 3MMeYe WHAHR IS BT (D) 3NIYE T HATHTR FeTeh hl
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137. Distribution factor for a winding having 3 slots/pole phase and slot angle of

20° is
Teh HE oh 1T, TEH 3 Telle/¢a sl qT 20° T I 7, Torawor 7T &
(A) 0.96 (B) 1.0 (C) 0.5 (D) 0.707

138. In a single phase repulsion motor, torque is developed on the rotor when
Brush axis is fixed

(A) at 90° electrical with the stator field axis
(B) 1in alignment with the stator field axis
(C) at an acute angle with the stator field axis

(D) at 90° mechanical with the stator field axis
Teh Ushel el Tfciehuur Hiet 3, Aot o S0l 3= giell &, el SJ21 L ofTrs 718 &

(A) T & gl @Y 90° geifrgsh  (B) WX & gl & foreigper argfew
(C) RA A FTAARUIT (D) WX &F g o A1 90° Hehfehed

139. Which motor is used for blowers ?

(A) DC compound motor (B) DC shunt motor
(C) DC series motor (D) Squirrel cage motor
eirere 1 A ) e T A 2
(A) DC HHT3E Hiet (B) DC 312 HieX
(C) DC vft Arex (D) feraiet & Ot
140. A solid angle is expressed in terms of
(A) radians (B) degrees
(C) radian per metre (D) steradians
31 IV <hI ST ST &
(A) e (B) feift (C) Ugma/#. (D) wifsH

141. In indirect heating method, maximum heat transfer takes place by
(A) conduction (B) convection (C) radiation (D) none of the above
ATHET 19 Torfer T, 3Tk T HETH ST ohl ST BidT &
(A) = (B) waEd (€) fafemor (D) o & i T
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142.

143.

144.

145.

146.

Chemical equivalent of a substance is defined as

(A) atomic weight x valency (B) atomic weight/valency
(C) valency/atomic weight (D) all of the above

Tereht Terel =1 TETI e TR B

(A) TR YR x HISThdl (B) TV VR / TSRl
(C) HASIharl / ITET] 9R (D) ug &l

Ammonia is preferred as a refrigerant in large commercial installation
because

(A) 1itisrelatively cheap (B) it s non-toxic

(C) it has low working pressure (D) all of the above

S8q SAGEIEh (STMTTSIeh) ST H Sefiaeh o iR 9 STHIMAT I AT ST &,
ERIIED

(A) 9% Ui T R HEd | | (B) g foden =i 2 |
(C) 3T HEited ge = 8 | (D) g &t
The direct current system employed for tramways operates on
2Tl ¥ SIS TS e el | SunTedt aieetferd &
(A) 3000V (B) 1500V (C) 750V (D) 440V
An energy meter utilizes damping.
(A) friction (B) eddy currents
(C) fluid friction (D) none of the above
Teh TS HieX TTHEH T ITATT HLT 2 |
(A) = (B) ¥eRHR  (C) WATHT (D) FH DR T
Electrostatic voltmeters are used to measure voltage across
(A) resistor (B) inductor
(C) capacitor (D) none of the above
% dicest o AT o TTU Solare e e dieetiel T3k 81d ¢ |
(A) S (B) W&
(C) = (D) FTH & i e
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147. The speed error of the energy meter is corrected by adjusting the position of

(A) series magnet (B) shunt magnet
(C) brake magnet (D) none of the above
<Jeeh <h! Terfcl o1 AHTIISH hieh TSl Hiet <l 7T Ffe o 3tk forarm ST

2l

(A) Bfy (B) ™ (C) s (D) 3T & IS TEl
148. A synchroscope is used to an alternator with bus bar.

(A) synchronize (B) increase efficiency

(C) decrease voltage (D) none of the above

T TR h 1Y Teh THshIEhIT T 21T 8
(A) Th Tl ISP HH (B) Teh Ueeldcd i q&Tdl 9@
(C) T Teele &l dieest UM (D) 0 9 His &l

149. Photovoltaic cell is an/a transducer.
(A) optical (B) displacement (C) resistance (D) none of the above
JehTIT-Te I Tt Teh TEST R |

(A) T (B) faeemum (C) gferiy (D) 8 9 His &l

150. Heat sinks are used in power amplifier circuits
(A) to increase the output power
(B) to reduce the heat losses in the transistor
(C) to increase the power gain of the power amplifier
(D) to increase the collector dissipation rating of the transistor
yiferd Jaeieh dfchel § HSAT &k Th Bt 3
(A) 3TTYE Ife §i@H o orT |
(B) iRt o 19 BT oM o foiq |
(C) wiferd yaeieh <ht Wtk fed si@M = feru |
(D) ZIfTeet ht el & e seH o o1 |
151. Golu was a famous painter of
(A) Bhagal (B) Bilaspur (C) Kanga (D) Nurpur
i wf¥g faeeer o

(A) YT I (B) fo@m@@H (C) HAEIH (D) T H
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152.

153.

154.

155.

156.

157.

158.

Guru Govind Singh never visited
(A) Dharamshala (B) Mandi (C) Naina Devi (D) Paonta Sahib

T Mfeie g 3 heft amm T H

(A) gHSTeTdl  (B) Hugl i (C) Feht &t (D) e Arfed i
The only Sainik School in H.P. is at

(A) Dagshai (B) Dalhousie (C) Sundernagar (D) Sujanpur Tira
TemTeret Y 1 U A Thel el W R R 2

(A) T (B) S (C) YR (D) FIWE fw
The river Ravi rises from

(A) Baralacha (B) Dhauladhar (C) Shiwaliks (D) Ravi kund
Tt TEY T ITTH WHE 7

(A) ST (B) iER (C) Bafele (D) T ps

The book ‘Kinner Desh’ was written by

(A) G.D.Khosla (B) Rahul Sankrityayan
(C) R.K.Kaushal (D) Yash Pal

g&aeh “fohR o fepeeh grI fetelt M5 8 7

(A) .2 @mer (B) g AT

(C) 3R, A (D) IIHTA

The Suketi Fossil Park is in
(A) Kinnaur (B) Lahaul (C) Sirmaur (D) Suket
Geohd! STaTeH 3T el W 2

(A) f=Rd  (B) @E@d (C) T (D) geha d

There is a large fish farm at

(A) Dharamshala (B) Deoli (C) Kalpa (D) Keylong
T ST el

(A) THIMH  (B) e H (C) Head (D) ST H

Netaji Subhash Chandra Bose spent number of months at

(A) Bilaspur (B) Nahan (C) Dalhousie (D) Dharamshala
TSt GuTY =g 919 3 3 TE A& W eI
(A) fs@mEge (B) A (C) s (D) &w=I
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159.

160.

161.

162.

163.

Where 1s “Bhunda’ held ?

(A) Nahan (B) Nirmand (C) Nurpur (D) Ner chowk
“e1’ gl glal g ?

(A) & d (B) fmmmwsd () TRH (D) W% d

Who said about ‘Spiti’ that, this place is no place for men ?

(A) Rahul Sankrityayan (B) J.L.Nehru

(C) R.N. Tagore (D) Rudyard Kipling
“feafa <6 I o a1 fohe a1 8 foh I8 T WSl ol T 81 & 2
(A) TEA HIHARH (B) I.TA. IE®

(C) Usgryr &R (D) ®aTe fopafem
“Gyas peak’ is located in

(A) Pangi valley (B) Kinnaur valley
(C) Spiti valley (D) Kullu valley

(A) wrftardtd  (B) fr=iRad® (C) Wafdardid (D) FooL el

‘Nehru kund’ is located in

(A) Manali (B) Shimla (C) Dalhousie (D) Nahan

(A) T A (B) Rmend (C) SR d (D) AT |

The Right to Privacy has been declared on 24" August, 2017 as
Fundamental Right by the Constitution Bench headed by

(A) D.Y. Chandrachud (B) A.M. Sapre

(C) 1.S. Khehar (D) R.F. Nariman

YT <IEdIS g 24 3FTE, 2017 Wi FS1aT o AfUSRR I evd TR
ey feper ma, fees seger 9

(A) B .9M. TGS (B) T.uq. {Y
(C) <.Td. WER (D) IIR.TH. WHH

164. Which tech giant has launched ‘Project Brainwave’ for real time artificial
intelligence ?
(A) Infosys (B) Microsoft (C) Facebook (D) Google
fope % e’ 1 ATEAfarsh THA i FGHAT o [T ‘SHad THASHT Ard i 2
(A) s=iff@  (B) W™ (C) WHYH (D) T
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165. Which city will host the first ever beauty pageant for transgenders ‘“Miss
Transqueen India” ?

(A) Gurugram (B) Pune (C) Kochi (D) Chennai
Rd Sl GaYH WIfAR3T & fofe Hied smrg “frm cmafes sfear 6 aemi
eI TT ITEL HT 2
(A) T (B) T (€) =i (D) =T

166. The NITI Aayog has launched Mentor India Campaign from which city ?
(A) Chennai (B) Hyderabad (C) Bengaluru (D) New Delhi
i SR 3 A o fohg I & “qRA TUHRITAT ST 3TRY fohalm 8 2
(A) =T (B) s (C) e (D) & feeeft

167. Who has been appointed as the new chairman of Railway Board ?
(A) Ashwani Lohani (B) Neelmani Reddy
(C) P.S. Thakur (D) A.K. Mittal
1eTd W7 & Fa-fge AT HH R 7
(A) swaftaEgHl (B) Femofid () dwd. s (D) we. fime

168. The National Sports Museum will be established in which city ?

(A) Varanasi  (B) Surat (C) Indore (D) New Delhi
UL WeAhe TUEr” fohd S8 H T ST ?
(A) IROE (B) g@ (C) 3=R (D) T3 feeett

169. Who of the following have been selected for the 2017 Rajiv Gandhi Khel
Ratna award ?

(A) B.B. Mohanty and S.S. Hakim

(B) V.S. Bhati and S.V. Suni

(C) Devendra Jhajharia and Sardar Singh

(D) None of the above

Tt Meft Wt T w2017 h i g a fpa g g ¢

(A) & dig<l IR TE.TE. ghm  (B) 1.ud. et 3R ua. .
(C) <ag g 3R Tier fog (D) T8 & HIg T

170. Where is the headquarters of the Border Roads Organization ?

(A) Pune (B) Guwahatt  (C) Srinagar (D) New Delhi
YT T TS 1 G Hal & 7
(A) T (B) TR (C) R (D) % feeeht
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